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QUESTION 1

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as their SDN
controller. The data center supporting this private cloud will use an IP fabric architecture consisting of QFX Series
switches and MX Series routers.

Which two statements are true in this scenario? (Choose two.)

A. All vRouters maintain identical forwarding tables for all virtual networks.

B. SDN Gateway devices may contain per-tenant MAC and IP addresses.

C. Each vRouter maintains separate forwarding tables for various virtual networks.

D. Spine and leaf devices may contain per-tenant MAC and IP addresses.

Correct Answer: BC

QUESTION 2

You are designing an IP fabric ASN scheme using EBGP.

What are two acceptable ranges in this scenario? (Choose two.)
A.0-512

B. 100001 — 199999

C. 64512 — 65535

D. 4200000000 — 4294967294

Correct Answer: CD

QUESTION 3

You are designing a new data center that will be built using an IP fabric. One of your security requirements is that the
gateway for all of your VLANs must reside on the data center SRX firewalls.

Which IP fabric architecture will satisfy this requirement?
A. centrally routed overlay

B. server routed overlay

C. edge routed overlay

D. bridged overlay

Correct Answer: C

JNO-1302 VCE Dumps | JNO-1302 Study Guide | JIN0-1302 Braindumps 2/3


https://www.pass2lead.com/jn0-1302.html
https://www.pass2lead.com/jn0-1302.html
https://www.pass2lead.com/jn0-1302.html

P 2L d https://lwww.pass2lead.com/jn0-1302.html
ass ea 2024 Latest pass2lead JN0-1302 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 4

You are asked to deploy data classification measures in your network. You are analyzing an e-mail and notice several
employees in the cc list but the e-mail does not appear to contain any sensitive data, such as security logs or financial
reports.

In this scenario, how should this data be classified?

A. public

B. encrypted

C. restricted

D. private

Correct Answer: D

QUESTION 5

You have a highly latency-sensitive application that is mission critical to your company\\'s operation. In this scenario,
what will enable you to identify issues within three second accuracy?

A.JTI

B. RMON1
C. LDAP
D. RMON2

Correct Answer: A
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